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iR 653 3 109 6 7 139 71 541 1
BN R 7 31 241 53 154 1,542 997 1,313 76
EE-—SHES 658 2 65 4 11 191 89 581 3
SERAMEZMES 7 35 259 61 175 1,635 1,122 1,343 20
=3RS 658 19 192 32 94 969 615 1,261 7
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WL B 4 0 0 0 0 0 0 0 0
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iR 653 10 150 10 70 1,920 370 960 60
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MIL-Ey B E 558 - 10 - - 150 10 100 -
HEE 558 - 20 - 10 340 30 210 -
ZRAM TR S 7 80 460 80 360 4,980 1,740 1,620 330
L 555 - - - - 20 - 10 -
BR-KEWE 558 - 20 - 10 370 40 220 -
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HBAF-S5RME 653 - 50 - 20 710 90 410 -
=y 4 - - - - - - - -
L#IIETRE 555 - - - - - - - -
EIE RN E 585 - - - - - - - -
L BB E 4 - - - - - - - -
ST B 555 - - - - 40 - 20 -
ERETER B 655 - 50 - 20 760 90 430 -
BN 7 80 460 80 360 4,770 1,680 1,540 330
BEENARNES 655 - 50 - 20 740 90 430 -
A5 AE-SHEE 658 20 180 20 90 2,230 460 1,070 90
M =8B 558 - 20 - - 210 20 130 -
=SS 658 50 360 60 240 4,000 1,200 1,510 290
lEA R B 558 - 20 - 10 380 40 230 -
BERE 555 - - - - 50 - 30 -
MERBME 658 30 250 30 140 2,960 710 1,310 230
HEE-EiBthE 655 10 100 10 40 1,390 200 740 -
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